1.

x<4 Ao, —2x+1 9 o] Hel=?

D -2x+1<-=7 @ —2x+1>-T7

@ -2x+1>7 ® —241<7

@ -2x+1<7



2. —6<4-2x<109 ], x] gte] HI=?

D x>1 @ x<-3 ® -1<x<4

@ -4<x<1 ® -3<x<5H



3. x<4 2l -2x+1 9 g HLE?

O -2x+1<-7 @ -2x+1>-T7 @ -2x+1<7

@ -2x+1>7 ® —2x+1<7



3l =xd o, 277-& xof W3t A o2 LR F29

1 3 ixl’»
@ 3x° @ 9x° ® 27x3 @ §x ® 5



5. 43 =Aeh @], 1672 A S olg ko] w7

D A 2 A2 B A3 @ A4 B) AS



ol
atof
A=
— 3501 ]]11
3= -40 ©

®
® A%
@ A45

2 A8
8510] Lt
g

® L
A8



7. OFS AS WESRE W% a, b, e o Dotol, at b+ = Aukel}?
(3x> —ax—T7) - (x> +2x+b) = cx®> + 5x— 4

@7 @ 5 ® -5 @ -8 ® -9



8. (=3x%4+y+4)—( )=2x>—y+30lA () ctof] g 229

D -5x*4+2y+1 @ -5x2-2y-3 ® x2-7

@ 5x2-2y-1 ® 5x24+y+7



A (5a% = Ta+ 4) — (11a® + 2a — 3)-= Fds| 5}FH?

® -6a%-5a+1 @ -6a>-9a+7 ® —6a%+9a+1

@ 16a%2-5a-17 G 16a2 —Ta+1



10. AFA={(x, yl+2 =7, x yE A5} L W, n(4) £2

D 2 ® 3 A 4 @ 5 ® 6



11, o 5 QARRA x4 y-2-0 9 H1?

@ (-1, 4) @ (0, 0)
@ (2, -2) ® (3, 0)

® (1, 1)



12.

22 x, y7H ALY T, AAYHA 354y = 13 S T
() erel grol 41 ke

3x+y=13 2y Tsto] EH (D)
xoll, 2 3, 4,5 6 dsto] y o] 32 F51H

1| 2|3 |4 |5]6
@] 7141 |@)) -5

ol o, y ] Y (@ )olofef stz
e (1, 10), (2, 7), (3, 4),(®) °leh.

D y=-3x+13 @ 10 ® -1
@ Aoz ® (4.1)



13.

1o A 5742] 9] 2}

2o s

2 ol
T AE

A4E B2 e v, yol

71 (& x, y O A

e =
-



14.

A= x, y ol skl AHFAHA

S, a+b 9 F2?

D 2 ® 3



® (3,9



